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QUESTION 1

You extend the coding block in the universal journal with a custom field. Which components can use this new field
without requiring further customization? There are 2 correct answers to this question.

A. Account-based CO-PA.

B. Classic profit center accounting.
C. General ledger accounting.

D. Costing-based CO-PA.

Correct Answer: CD

QUESTION 2

Which of the following are characteristics of an operational data mart based on SAP HANA?
A. It is based on analytic denormalized data models

B. It uses real-time replication of time-critical data

C. It persists transformed data

D. It runs directly on top of the operational data

Correct Answer: BD

QUESTION 3

True or False: In SAP S/4HANA, if PCA is active, the profit center field is mandatory.
A. True

B. False

Correct Answer: B

QUESTION 4

Which of the following are functions of the DB trigger within SAP Landscape Transformation (SLT)?
A. Include only relevant tables for DB recording.

B. Record relevant changes in logging tables.

C. Ensure that replicated changes are kept within the logging tables.
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D. Decluster table classes into a transparent format.

Correct Answer: AB

QUESTION 5

Which tables are replaced by compatibility views? Choose the correct answer.
A. 10

B.6

C.3

Correct Answer: B
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